Date	Start	Event Name	Location	End	Description	Group
Wed 01/02/2013	2:30 pm	Boys Basketball	FI School	3:30 pm	Williams	FI School (Public Events)
Sat 01/05/2013	12:30 pm	Girls Basketball	FI School	1:30 pm	St. Michaels	FI School (Public Events)
Sat 01/05/2013	2:00 pm	boys j.v.	FI School	3:00 pm	St. Michaels	FI School (Public Events)
Wed 01/16/2013	5:00 pm	FI School Board of Ed. Meeting	FI School	7:00 pm		FI School (Public Events)
Sat 01/19/2013	12:30 pm	Boys Basketball	FI School	1:30 pm	O'Brien Tech	FI School (Public Events)
Sat 01/19/2013	2:00 pm	Girls Basketball	FI School	3:00 pm	O'Brien Tech	FI School (Public Events)
Sat 01/26/2013	12:30 pm	Girls Basketball	FI School	1:30 pm	WILLIAMS	FI School (Public Events)
Wed 01/30/2013	1:00 pm	Girls Basketball	FI School	2:00 pm	Wheeler	FI School (Public Events)
Wed 01/30/2013	3:00 pm	Boys Basketball	FI School	4:00 pm	Oxford	FI School (Public Events)
Sat 02/02/2013	12:30 pm	Girls Basketball	FI School	1:30 pm	Waterford	FI School (Public Events)
Sat 02/02/2013	2:00 pm	Boys Basketball	FI School	3:00 pm	Waterford	FI School (Public Events)
Fri 02/08/2013	2:30 100	Boys Basketball	FI School	3:30 pm	STM	FI School (Public Events)
Fri 02/08/2013	3:00 pm	Boys j.v.	FI School	4:00 pm	STM	FI School (Public Events)
Sat 62/09/2013	12:30 pm	Girls Basketball	FI School	1:30 pm	Conerstone Christian	FI School (Public Events)
Sat 02/09/2013	2:00 100	Boys Basketball	FI School	3:00 pm	Old Lyme	FI School (Public Events)
Wed 02/20/2013	5:00 pm	FI School Board of Ed. Meeting	FI School	7:00 pm		FI School (Public Events)
Tue 02/26/2013	1:30 pm	Boys Basketball	FI School	2:30 pm		FI School (Public Events)
Tue 02/26/2013	3:00 pm	Boys JV Basketball	FI School	4:00 pm		FI School (Public Events)
Sat 03/09/2013	1:00 pm	Alumni Basketball Games	FI School	4:00 pm		FI School (Public Events)
Sat 03/09/2013	4:00 pm	FI School Alumni Function	Fishers Island Community Center	7:00 pm		Community Center
			- New Dinning Room			FI School (Public Events)
Wed 03/20/2013	5:00 pm	FI School Board of Ed. Meeting	FI School	7:00 pm		FI School (Public Events)
Mon 04/08/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Arts & Crafts Room Fishers Island Community Center Kids Room Fishers Island Community Center Yoga/Dance Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)

Date	Start	Event Name	Location	End	Description	Group
Tue 04/09/2013	3:00 pm	After School Program: Pre-K - 4th	Fishers Island Community Center	5:00 pm	1 day a week \$12.00	Community Center
		Grade	Yoga/Dance Room		Siblings \$9.00	FI School (Public Events)
			Fishers Island Community Center		2 days per week \$18.00	
			Kids Room		Siblings \$12.00	
			Fishers Island Community Center			
			Arts & Crafts Room			
Thu 04/11/2013	8:40 am	FI School Gym Class	Fishers Island Community Center	9:20 am		Community Center
			Gym			FI School (Public Events)
Mon 04/15/2013	10:00	FI School Gym Class	Fishers Island Community Center	10:45		Community Center
	am		Gym	am		FI School (Public Events)
Mon 04/15/2013	3:00 pm	After School Program: Pre-K - 4th	Fishers Island Community Center	5:00 pm	1 day a week \$12.00	Community Center
		Grade	Yoga/Dance Room		Siblings \$9.00	FI School (Public Events)
			Fishers Island Community Center		2 days per week \$18.00	
			Kids Room		Siblings \$12.00	
			Fishers Island Community Center			
			Arts & Crafts Room			
Tue 04/16/2013	3:00 pm	After School Program: Pre-K - 4th	Fishers Island Community Center	5:00 pm	1 day a week \$12.00	Community Center
		Grade	Yoga/Dance Room		Siblings \$9.00	FI School (Public Events)
			Fishers Island Community Center		2 days per week \$18.00	
			Kids Room		Siblings \$12.00	
			Fishers Island Community Center			
			Arts & Crafts Room			
Wed 04/17/2013	8:40 am	FI School Gym Class	Fishers Island Community Center	9:20 am		Community Center
			Gym			FI School (Public Events)
Wed 04/17/2013	5:00 pm	FI School Board of Ed. Meeting	FI School	7:00 pm		FI School (Public Events)
Fri 04/19/2013	10:00	FI School Gym Class	Fishers Island Community Center	10:45		Community Center
	am		Gym	am		FI School (Public Events)
Mon 04/22/2013	3:00 pm	After School Program: Pre-K - 4th	Fishers Island Community Center	5:00 pm	1 day a week \$12.00	Community Center
		Grade	Yoga/Dance Room		Siblings \$9.00	FI School (Public Events)
			Fishers Island Community Center		2 days per week \$18.00	
			Kids Room		Siblings \$12.00	
			Fishers Island Community Center			
			Arts & Crafts Room			
Tue 04/23/2013	8:40 am	FI School Gym Class	Fishers Island Community Center	9:20 am		Community Center
			Gym			FI School (Public Events)

Date	Start	Event Name	Location	End	Description	Group
Tue 04/23/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
			Arts & Crafts Room			
Thu 04/25/2013	10:00 am	FI School Gym Class	Fishers Island Community Center Gym	10:45 am		Community Center FI School (Public Events)
Fri 04/26/2013	5:00 pm	FI School Theatrical Production	FI School	6:30 pm		FI School (Public Events)
Sat 04/27/2013	1:00 pm	FI School Theatrical Production	FI School	2:30 pm		FI School (Public Events)
Mon 04/29/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Tue 04/30/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Fri 05/03/2013	4:00 pm	FI School Pasta Dinner 9th Grade Fundraiser	FI School	5:00 pm		FI School (Public Events)
Fri 05/03/2013	5:00 pm	FI School Spring Music Concert and Art Show	FI School	6:30 pm		FI School (Public Events)
Fri 05/03/2013	6:00 pm	FI School Dessert Auction 9th Grade Fundraiser	FI School	7:00 pm		FI School (Public Events)
Mon 05/06/2013	8:00 am	Rachel's Challenge: An Anti-bullying Presentation	Fishers Island Community Center Multi-Purpose Room	12:00 pm		FI School (Public Events) Community Center
Mon 05/06/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)

Date	Start	Event Name	Location	End	Description	Group
Tue 05/07/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Mon 05/13/2013	3:00 pm	After School Program: Pre-K - 4th Grade		5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Tue 05/14/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Wed 05/15/2013	6:00 pm	FI School Board of Ed. Meeting	FI School	8:00 pm		FI School (Public Events)
Mon 05/20/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Tue 05/21/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Mon 05/27/2013	8:00 pm/	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	\$:00 pm/	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)

Date	Start	Event Name	Location	End	Description	Group
Tue 05/28/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Sun 06/02/2013	12:15 pm	FI School Junior Class Golf Tournament Hay Harbor Golf Club	Islandwide - various locations	TBD	SEE ATTACHED	FI School (Public Events)
Mon 06/03/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Tue 06/04/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Mon 06/10/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Tue 06/11/2013	3:00 pm	After School Program: Pre-K - 4th Grade	Fishers Island Community Center Yoga/Dance Room Fishers Island Community Center Kids Room Fishers Island Community Center Arts & Crafts Room	5:00 pm	1 day a week \$12.00 Siblings \$9.00 2 days per week \$18.00 Siblings \$12.00	Community Center FI School (Public Events)
Mon 06/17/2013	5:00 pm	FI School Award Ceremony	FI School	6:30 pm		FI School (Public Events)
Wed 06/19/2013	6:00 pm	FI School Board of Ed. Meeting	FI School	8:00 pm		FI School (Public Events)
Fri 06/21/2013	4:45 pm	FI School Class of 2013 Graduation	FI School	5:30 pm		FI School (Public Events)

Date	Start	Event Name	Location	End	Description	Group
Sat 06/22/2013	12:00	PINEWOOD DERBY: 7th Grade	FI School	3:00 pm		FI School (Public Events)
	pm	Fundraiser				
Mon 07/01/2013	10:00	BIKE SAFETY TALK - Open to	FI School	10:30		FI School (Public Events)
	am	all!		am		
Thu 07/25/2013	5:30 pm	FI School Board Meeting	Fishers Island Community Center	8:30 pm		FI School (Public Events)
			Multi-Purpose Room			
Fri 07/26/2013	11:15	IPP Presents "MULAN"	FI School	12:00		FI School (Public Events)
	am			pm		Island People's Project
						Program
Wed 08/21/2013	6:30 pm	FI School Board Meeting	FI School	8:30 pm		FI School (Public Events)
Thu 08/22/2013	5:30 pm	FI School Board Meeting	FI School	8:00 pm		FI School (Public Events)
Wed 10/02/2013	3:15 pm	Cross Country Meet	FI School	4:15 pm	Old Lyme at FIS	FI School (Public Events)
Sun 10/06/2013	12:15	FI School Senior Class Golf	Hay Harbor Golf Course	6:00 pm	Checkin 12:15	FI School (Public Events)
	pm	Tournament			Shotgun/Tee	
					Time:12:30p.m. The cost	
					for the day is \$85.00	
					Includes: Shuttle to and	
					from ferry/charter Two	
					rounds of 9 hole golf in	
					teams of 5Casual grilled	
					lunch Chance to win	
					great prizes Hole-In-One,	
					Longest Drive Closest to	
					the Pin Fun raffles No	
					carts are available All to	
					benefit the Fishers Island	
					School Class of 2014	
Fri 10/11/2013	3:15 pm	Cross Country Meet	FI School	4:15 pm	Killingly @ FIS	FI School (Public Events)
Wed 10/16/2013	8:00 am	FI School PSAT Testing	Fishers Island Community Center	12:00		FI School (Public Events)
			Multi-Purpose Room	pm		
Wed 10/16/2013	5:00 pm	Board of Education Meeting	FI School	8:00 pm		FI School (Public Events)
Thu 10/31/2013	5:30 pm	FI Community Halloween Parade	FI School	6:30 pm	Prizes can be won by	FI School (Public Events)
					preK through Grade 6	
					students who dress in	
					costume. Sponsored by	
					Island People Project	
					and the Student Council.	
Wed 11/20/2013	5:00 pm	Board of Education Meeting	FI School	8:00 pm		FI School (Public Events)

Date	Start	Event Name	Location	End	Description	Group
Thu 12/05/2013	4:30 pm	Judo Class	Fishers Island Community Center	6:30 pm		FI School (Public Events)
			Multi-Purpose Room			
Thu 12/05/2013	4:30 pm	Girls Basketball Home Game	FI School	6:30 pm	vs Holy Family	FI School (Public Events)
Wed 12/11/2013	4:15 pm	Class of 2014 - Fundraiser Dinner	FI School	4:45 pm		FI School (Public Events)
Wed 12/11/2013	5:00 pm	Winter Concert and Art Show:	FI School	6:15 pm	Fishers Island School	FI School (Public Events)
		Flier Attached			showcases it performing	
					a visual art talents.	
Wed 12/11/2013	6:15 pm	Class of 2015 - Desert Auction	FI School	6:45 pm		FI School (Public Events)
Wed 12/18/2013	5:00 pm	Board of Education Meeting	FI School	8:30 pm		FI School (Public Events)
Thu 01/09/2014	4:30 pm	Judo Class	FI School	6:30 pm		FI School (Public Events)
Thu 01/09/2014	5:30 pm	Family Astronomy Program	FI School	6:15 pm	Dr. Leslie Brown,	FI School (Public Events)
					Professor of Physics &	
					Astronomy at CT College	
					and Director of the Olin	
					Observatory, is	
					presenting a Schoolwide	
					Enrichment Astronomy	
					program today at 1:30.	
					Another special free	
					informal	
					family/community	
					Stargazing program here	
					at the school from	
					5:00-6:15 for children,	
					family and community	
					members of all ages	
Sat 01/11/2014	12:00	Viking Corn Dogs for Sale	FI School	4:00 pm	Viking Corn Dogs, Drink,	FI School (Public Events)
	pm				Cookie and ChipsPrice	
					\$5.00 Sold by the Class	
					of 2015Corn Dogs sold	
					separately\$2.00	
Sat 01/11/2014	12:30	Boys Basketball @ Home	FI School	1:30 pm	vs Wheeler	FI School (Public Events)
	pm	_				,
Sat 01/11/2014	2:00 pm	Girls Basketball @ Home	FI School	3:00 pm	vs Wheeler	FI School (Public Events)
Wed 01/15/2014	5:00 pm	Board of Education Meeting	FI School	8:30 pm		FI School (Public Events)
Thu 01/16/2014	12:30	Boys Basketball @ Home	FI School	1:30 pm	vs Grove	FI School (Public Events)
	pm					
Thu 01/16/2014	4:30 pm	Judo Class	FI School	6:30 pm		FI School (Public Events)

Date	Start	Event Name	Location	End	Description	Group
Sat 01/18/2014	12:30	Girls Basketball @ Home	FI School	1:30 pm	vs Sacred Heart	FI School (Public Events)
	pm					
Sat 01/18/2014	2:00 pm	Boys Basketball @ Home	FI School	3:00 pm	vs Sacred Heart	FI School (Public Events)
Thu 01/23/2014	3:30 pm	Girls Basketball @ Home	FI School	4:30 pm	vs Masters Regional	FI School (Public Events)
					Academy	
Thu 01/23/2014	4:30 pm	Judo Class	FI School	6:30 pm		FI School (Public Events)
Thu 01/30/2014	4:30 pm	Judo Class	FI School	6:30 pm		FI School (Public Events)
Sat 02/01/2014	12:30	Girls Basketball @ Home	FI School	2:00 pm	University school of	FI School (Public Events)
	pm				Hartford	
Mon 02/03/2014	1:00 pm	Girls Basketball @ Home	FI School	2:00 pm	vs Cornerstone	FI School (Public Events)
Mon 02/03/2014	2:30 pm	Boys Basketball @ Home	FI School	3:30 pm	vs St Thomas Moore	FI School (Public Events)
Wed 02/05/2014	1:00 pm	Boys Basketball @ Home	FI School	2:00 pm	vs Oxford	FI School (Public Events)
Thu 02/06/2014	4:30 pm	Judo Class	Fishers Island Community Center	6:30 pm	@ the Community	Community Center
			Multi-Purpose Room		Center	FI School (Public Events)
Thu 02/06/2014	4:30-400	Girls basketball-game	FI School	6:30 pm		FI School (Public Events)
Sat 02/08/2014	12:30	Co-ed Basketball @ Home	FI School	1:30 pm	vs North Stonington	FI School (Public Events)
	pm				Christian Academy	
Thu 02/13/2014	4:30-900	Judo Class	FI School	6:30 pm		FI School (Public Events)
Wed 02/19/2014	5:00 pm	Board of Education Meeting	FI School	8:30 pm		FI School (Public Events)
Thu 02/20/2014	4:30 pm	Judo Class	FI School	6:30 pm		FI School (Public Events)
Sat 02/22/2014	12:30	Boys Basketball @ Home	FI School	1:30 pm	vs O'brien Tech	FI School (Public Events)
	pm					
Sat 02/ 22/2014	2:00-100	Girls Basketball @ Home	FI School	3:00-100	vs O'brien Tech	FI School (Public Events)
Wed 02/26/2014	4:30 pm	girls jv basketball game	FI School	6:30 pm		FI School (Public Events)
Thu 02/27/2014	4:30 pm	Judo Class	FI School	6:30 pm		FI School (Public Events)